

To: jeevacation@gmail.com[jeevacation@gmail.com]; Je vacation[jeevacation@gmail.com]
From: [REDACTED]
Sent: Fri 4/27/2012 12:30:49 PM
Subject: Re: Fw: 727-100 Breakdown - KSAN - Montenegro

June 18th-26th,.

Insurance cost is \$478k for a year, no short term coverage according to our underwriters,.

Handling and flight plans client pays,.

I made it clear to Ray the profit is 3k empty and 4k live leg to jege

Sent via BlackBerry by AT&T

From: Jeffrey Epstein <jeevacation@gmail.com>
Date: Fri, 27 Apr 2012 08:13:57 -0400
To: [REDACTED]
Subject: Re: Fw: 727-100 Breakdown - KSAN - Montenegro

insurance? , flight plans? , who is responsible for damage interior? , dates

On Fri, Apr 27, 2012 at 6:18 AM, <lvjet@aol.com> wrote:

More info regards Boeing charter flight, below
Sent via BlackBerry by AT&T

-----Original Message-----

From: Ray Boylan <[REDACTED]>
Date: Fri, 27 Apr 2012 04:08:02
To: [REDACTED]
Cc: [REDACTED] <[REDACTED]>
Subject: FW: 727-100 Breakdown - KSAN - Montenegro

Larry,

Tried to email this to you earlier but realize now it may have failed. Scroll down for a look at our estimate and please advise soonest.

Did we miss anything?

Thanks.

Ray Boylan
Blue Star Jets LLC

[REDACTED]
Scottsdale, AZ 85251

O) [REDACTED]
M) [REDACTED]
[REDACTED]

www.bluestarjets.com

From: Danny Preston
Sent: Thursday, April 26, 2012 4:51 PM
To: Ray Boylan
Subject: 727-100 Breakdown - KSAN - Montenegro

EGGW,

LTN, <<http://marketplace.avinode.com/marketplace/private/flight/PaxEnterpriseResultDetails.do>> Luton, London (luton), England, United Kingdom 06/17/12 9:00 AM local (8:00 AM UTC)

KSAN,

SAN, <<http://marketplace.avinode.com/marketplace/private/flight/PaxEnterpriseResultDetails.do>> San Diego Intl, San Diego, California, United States 06/17/12 11:34 AM local (6:34 PM UTC) 10:34

KSAN,

SAN, <<http://marketplace.avinode.com/marketplace/private/flight/PaxEnterpriseResultDetails.do>> San Diego Intl, San Diego, California, United States 06/18/12 12:00 PM local (7:00 PM UTC)

KTEB,

TEB, <<http://marketplace.avinode.com/marketplace/private/flight/PaxEnterpriseResultDetails.do>> Teterboro, New Jersey, United States 06/18/12 7:43 PM local (11:43 PM UTC) 2109 04:43

KTEB,

TEB, <<http://marketplace.avinode.com/marketplace/private/flight/PaxEnterpriseResultDetails.do>> Teterboro, New Jersey, United States 06/19/12 9:00 AM local (1:00 PM UTC)

LYTV,

TIV, <<http://marketplace.avinode.com/marketplace/private/flight/PaxEnterpriseResultDetails.do>> Tivat, Montenegro 06/19/12 11:46 PM local (9:46 PM UTC) 3936 08:46

LDSP,

SPU, <<http://marketplace.avinode.com/marketplace/private/flight/PaxEnterpriseResultDetails.do>> Split, Croatia 06/28/12 9:00 AM local (7:00 AM UTC)

KTEB,

TEB, <<http://marketplace.avinode.com/marketplace/private/flight/PaxEnterpriseResultDetails.do>> Teterboro, New Jersey, United States 06/28/12 11:29 AM local (3:29 PM UTC) 3809 08:29

KTEB,

TEB, <<http://marketplace.avinode.com/marketplace/private/flight/PaxEnterpriseResultDetails.do>> Teterboro, New Jersey, United States 06/28/12 9:00 PM local (1:00 AM +1d UTC)

KSAN,

SAN, <<http://marketplace.avinode.com/marketplace/private/flight/PaxEnterpriseResultDetails.do>>

do> San Diego Intl, San Diego, California, United States 06/28/12 10:43 PM local (5:43 AM +1d UTC) 2109 04:43

KSAN,

SAN, <<http://marketplace.avinode.com/marketplace/private/flight/PaxEnterpriseResultDetails.do>> San Diego Intl, San Diego, California, United States 06/30/12 9:00 AM local (4:00 PM UTC)

KFXE,

FXE, <<http://marketplace.avinode.com/marketplace/private/flight/PaxEnterpriseResultDetails.do>> Executive Intl, Ft Lauderdale, Florida, United States 06/30/12 4:23 PM local (8:23 PM UTC) 1966 04:23

42 Hours + 5 hours (fuel stops or difference in aircraft speed) = 47 Hours

FLIGHT TIME

20 Empty hours @ \$3k / hr =	\$60,000.00
27 Live hours @ \$4k / hr =	\$108,000.00
TOTAL FLIGHT TIME COST =	\$168,000.00

FUEL

47 hours + 1250 (gallons/ hr) = 58,750 Gallons
58,750 X \$4.00 (max cost per/gal for jet fuel) = \$235,000.00

CREW

9 days x \$3,000 (crew cost per day) =	\$27,000.00
9 days x \$2,000 (RON costs) =	\$18,000.00

OTHER FEES

Parking

9 days x \$1200 (max. per day) =	\$10,800.00
----------------------------------	-------------

Landing Fees

9 days	\$10,000.00
--------	-------------

International Fees

\$20,000.00

TOTAL	\$488,800.00
-------	--------------

Danny Preston
Blue Star Jets - Beverly Hills

[REDACTED]
Beverly Hills, CA 90212

Office: [REDACTED]

Cell: [REDACTED]

Fax: [REDACTED]

www.bluestarjets.com<<http://www.bluestarjets.com/>>

www.shareajetexchange.com<<http://www.shareajetexchange.com/>>

Any Jet any Time any Place

Follow us on Twitter for empty legs

www.twitter.com/bluestarwest

www.facebook.com/bluestarjet

--

The information contained in this communication is confidential, may be attorney-client privileged, may constitute inside information, and is intended only for the use of the addressee. It is the property of Jeffrey Epstein

Unauthorized use, disclosure or copying of this communication or any part thereof is strictly prohibited and may be unlawful. If you have received this communication in error, please notify us immediately by return e-mail or by e-mail to jeevacation@gmail.com, and destroy this communication and all copies thereof, including all attachments. copyright -all rights reserved